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1. Answer any five questions from the following : 1x5=5
(a) Acetic acid reacts with methyl alcohol in the presence of an acid catalyst to give
(1) Methyl formate
(i) Ethyl formate
(i1) Methyl acetate
(iv) Ethyl acetate
(b) Gabriel synthesis is carried out for the preparation of
(1) Aldehydes and ketones
(i) alcohols
(i) Primary Amines
(iv) Carboxylic Acid
(¢) Which of the following is not a vehicle in paints?
(1) Linseed oil
(i) Tung oil
(i) Poppy oil

(iv) Turpentine oil
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(d) All of the following monosaccharides give the same osazone except;
(1) Galactose
(i) Glucose
(i) Fructose
(iv) Mannose
(e) An aqueous solution of glycine is neutral because of the formation of
(1) Carbanion
(1) Zwitterion
(i) Carbonium ions
(iv) Free radicals
(f) Which of the following is/are addition polymer?
(1) Teflon
(i) Orlon
(i) PVC
(iv) All the above
(2) Heating of rubber with Sulphur is known as
(1) Galvanization
(1) Vulcanization
(i) Bessemerization
(iv) Sulphonation

(h) What is the working pH range of the methyl orange indicator?

) pH = 1-2
(i) pH = 3.1-4.4
(i) pH = 7.2-8.8

(iv) None of the above



(3)

2. Answer any four questions: 2x4=8
(a) Out of ethylamine and aniline which is a stronger base and why?
(b) Write down the structure and chemical name of aspirin. Mention its uses.
(c) Why is a binder used in paint?
(d) What does it mean by anomer and epimer?
(e) Convert nitrobenzene to chlorobenzene via diazonium salt formation.
() How PVC is prepared from its monomer?
(g) How is fructose converted to glucose?
(h) Write down the difference between oil and fats.
3. Answer any two questions: 2x6=12
(@) (1) Give two methods to synthesise alpha amino acids.
(i) How would you prepare ethylamine by Hofmann degradation of amides?
(i) Write a short note on ‘Hell-Vohlard-Zelinsky reaction’. 2+2+2
(b) (1) What do you mean by saponification? Give two examples of artificial detergent.
(i) Why hard resins ase used in varnishes?
(i) Give the synthesis and uses of Congo red. 3+14+2
(c) (1) How to prepare ethanol from sucrose.
(i) How will you convert ethylamine to acetic acid?

(i) Why is sucrose known as inverted sugar? Write down the structure of Ala-Gly
dipeptide. 2+2+42

(d) (1) What do you mean by food preservatives? Give two examples.
(i) Distinguish between soap and detergent.

(i) Write down the chemical name of DDT with its structure. 2Va+2Y+1
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